
 


03.  
 

 
1. 
    a) . 
    b) 
.  
    c) 
. 
A. (a) 




    (b) 



    (c) 


2. 


A. 




3. 

A.     (m) = 6.0 Kg 
               (v) = 2.2 m/s 
                (P) = mv  = 6.0 x 2.2  
                                            = 13.2 Kg.m/s 
4. N 
  
    (a)  
    (b) 1200 
  
A. (a)  (F) = 200 N 
                                 (t) = 3 sec. 
           = F x t  = 200 x 3 = 600 N-s. 

     (b)                  (m) = 1200 Kg. 
          (F) = 200 N 
                                         (t) = 3 sec 
                         =  
                             F x t = m (v-u) 
                         200 x 3 = 1200 (v-u) 
                               600 = 1200 (v-u) 
                                v-u = ଺଴଴

ଵଶ଴଴
 = ଵ

ଶ
 = 0.5 m/s 

                  = 0.5 m/s 
5. 


A.  (m) = 0.7 Kg. 
                 (a) = 3 m/s2 
        (F) = ma 
                                 = 0.7 x 3  
                                 = 2.1 N 
6. 1.4 




A.            (m) = 1.4 Kg. 
     (t1) = 0.2 sec. 
                         (u) = 0 m/s 
     
     (S) = 4 m 
                          (t2) = 2 sec 
                      V = దూరం

ĥాలం
        

                                      = ସ
ଶ
  

                                      = 2 m/s 
      (F) = ma  

                                       = mቀ௩ି௨
௧
ቁ  

                                       = 1.4 x ቀଶି଴
଴.ଶ
ቁ  

                                       = 1.4 x ቀ ଶ
଴.ଶ
ቁ  

                                       = ଵସ	௫	ଶ
ଶ

  
                                       = 14 N  
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7. 10 



A.     (m) = 5 Kg. 
                (u) = 10 m/s 
                         (t) = 20 s 
                (v) = 25 m/s      
   (F) = ma  

                                       = mቀ௩ି௨
௧
ቁ  

                                       = 5 x ቀଶହିଵ଴
ଶ଴

ቁ  

                                       = 5 x ቀଵହ
ଶ଴
ቁ  

                                       = ଵହ
ସ

 = 3.75 N 
8. 

A. (a)        T – mg = ma 
          30 – 2 x 10 = 2 a 
                        10 = 2 a 
                       2 a = 10 
                          a = 5 m/s2 
    (b) 3 Kg   3g – T = 3a 
         2 Kg   -2g + T = 2a 
               g = 5a 
                                           a = ௚

ହ
  

                                              = ଵ଴
ହ

  
                                              = 2 m/s2 

9. 







A.    F α x 
   2    4  

F1 = F   F2 = 2F 
m1= m   m2 = 2m 
a1 = 2 m/s2   a2 = ? 
a1 = ிభ

௠భ
  a2 = ிమ

௠మ
 

    = ி
௠

                  = ଶி
ଶ௠

 

                                               = ி
௠

 
    = a1 

     . 

10. 
.  
A. : 


     Ex: 




     : 



     Ex: 




     : 


     Ex: 




11. 


A. 




12. 5Nm1 
m2 



A. m1 = F = 5 N 
                               = m1 
                                     (a) = 8 m/s2 

                                               m1 = ி
௔
  = ହ

଼
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     m2 = F = 5 N 
                                = m2 
                                      (a) = 24 m/s2 

                                                m2 = ி
௔
  = ହ

ଶସ
 

      ,  
                    (m) = m1 + m2  

                                               = ହ
଼
 + ହ

ଶସ
  

                                               = ଵହ
ଶସ

 + ହ
ଶସ

  

                                               = ଶ଴
ଶସ

 = ହ
଺
 Kg 

        F = 5 N 

                                        (a) = ி
௠

  

                                                       = ହହ
଺ൗ
  

                                                        = 6 m/s2 
13. 
0.01     
     

A.              (m) = 400 g = 0.4 Kg 
                        (u) = 30 m/s 
                        (v) = 0 m/s 
     (t) = 0.01 sec 
                                =  
                                          = ௩ି௨

௧
  

                                          = ଴ିଷ଴
଴.଴ଵ

  

                                          = ିଷ଴
଴.଴ଵ

  
                                          = -3000 m/s2 
      (F) = ma 
                          = 0.4 x (-3000) = -1200 N 
              
      
. 
14. 

g = 10 m/s2 
 
 
 
 
A.                 m1 = m2 = 3 Kg 
                          (g) = 10 m/s2 

      (a) = ௠భ	௚
௠భା௠మ

 = ௠మ	௚
௠భା௠మ

 

                                            = ଷ	௫	ଵ଴
ଷାଷ

  

                                            = ଷ଴
଺

 = 5 m/s2 

                    (T) = ௠భ௠మ	௚
௠భା௠మ

  

                                            = ଷ	௫	ଷ	௫	ଵ଴
ଷାଷ

  

                                            = ଽ଴
଺

 = 15 N 
15. 


10 

 
 
 
 
A.   
                                     m1 = m2 = m3 = 10 Kg 
                         (F) = 30 N 

                     (a) = ி
௠భା௠మା௠య

  

                                                = ଷ଴
ଵ଴ାଵ଴ାଵ଴

  

                                                = ଷ଴
ଷ଴

 = 1 m/s2 
      T1 T2  
T1 = m1.a  
                                    = 10 x 1  
                                    = 10 N 
T2 = (m1+m2)a  
                                    = (10+10)1  
                                    = 20 N 
16. 




 
 
A. 


 
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17. 
     (a) 

     (b) 

A. (a) 




    (b) 




18. 





A. 
: 
     (i)   
    (ii) 


   (iii) 
   (iv) 

19. 






A. 







20. 






A. 

 









21. 

A. 

22. 



A.           (m) = 30 Kg 
               (T) = 450 N 
                 (a) = ? 
                                    T = F  
                                    T = ma 
                                450 = 30 x a 
                                    a =  ସହ଴

ଷ଴
  

                                     a = 15 m/s2 
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23. 11.7 


A.       (m) = 1500 Kg 
                 = 1.7 m/s2 
                      (a) = -1.7 m/s2 
        (F) = ma  
                                      = 1500 x (-1.7)                                
                                      = - 2550 N 
        
      
2550 N. 
24. 




A.  

25. 



A.           
            m1= 60 Kg  m2 = 40 Kg 
  u1 = 0 m/s  u2 = 0 m/s 
            v1 = 2 m/s  v2 = ? 
           
          m1.u1 + m2.u2 = m1.v1 + m2.v2 

   60 x (0) + 40 x (0) = 60 x 2 + 40 x v2 

                       0 + 0 = 120 + 40 v2 
                       40 v2 = - 120 
                           V2 = ିଵଶ଴

ସ଴
  

                           V2 = -3 m/s 
     3 m/s 
. 
26. 


  
  
A.    

      . 
27. mv



A.      = m 
           (u) = v 
               = -v 
      
      (F) =  

           = m ቀ௩ି௨
௧
ቁ  

           = m ቀ௩ି௨
௧
ቁ  

           = m ቀି௩ି௩
௧
ቁ  

           = m ቀିଶ௩
௧
ቁ 

           = ିଶ௠௩
௧

 

     ଶ௠௩
௧

    

 
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